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        80

Time allowed : 3 hours Maximum Marks : 80 

  
 (i)  -      –     
 (ii)  –          
 (iii)  –      –          
 (iv)  –             
 (v)                
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       -    16   

 -            -  -    

       -  23    

         ,       

  -     15        -     10.15 
    10.15   10.30     -       
  -       

 Please check that this question paper contains 16 printed pages.  

 Code number given on the right hand side of the question paper should be written on the 
title page of the answer-book by the candidate. 

 Please check that this question paper contains 23 questions. 

 Please write down the Serial Number of the question before attempting it. 

 15 minute time has been allotted to read this question paper. The question paper will be 
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 
question paper only and will not write any answer on the answer-book during this period. 

Candidates must write the Code on 
the title page of the answer-book. 
 

SET – 1 

Downloaded From :http://cbseportal.com/

Downloaded From :http://cbseportal.com/ Courtesy : CBSE

http://cbseportal.com/
http://cbseportal.com/


67/1 2  

General Instructions : 

 (i) This question paper contains two parts A and B.  

 (ii) Part A is compulsory for all. 

 (iii) Part B has two options : Option – I Analysis of Financial Statements and Option – II 
Computerized Accounting. 

 (iv) Attempt only one option of Part B. 

 (v) All parts of a question should be attempted at one place. 

 –   
PART – A 

 

(      ) 

(Accounting for Partnership Firms and Companies) 

 
 

1. ‘ ’     ? 1 

 What is meant by ‘Hidden Goodwill’ ?   

 
2.  ,          3:2:2        1 ,  

2016                ` 60,000     
    1 , 2017       6%       
       

                   1 

 Akash, Naveen and Zaid are partners sharing profits in the ratio of 3:2:2. Zaid died on  

1st September, 2016. The total amount owed by the firm to his executors was ` 60,000. 
The firm decided to pay him in three equal annual instalments carrying interest @6% 
p.a. beginning with 1st September, 2017. Pass the journal entry for recording the above 
transaction on the date of Zaid’s death. 

 
3.  ‘  ’              

     1 

 Differentiate between dissolution of partnership and dissolution of a partnership firm on 
the basis of ‘continuity of business’. 
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4.               ?       
     1 

 Does the change in profit sharing ratio result into dissolution of the partnership firm ? 
Give reason in support of your answer. 

 

5.                   
     1 

 State the ratio in which the partners share the gain or loss on revaluation of assets and 
liabilities. 

 

6.    ‘ ’     ?  1 

 What is meant by ‘Private Placement of Shares’ ? 

 

7.  ,         ` 1,00,000         
2013-14 ` 40,000; 2014-15 ` 46,000  2015-16 ` 52,000   2014-15  ` 3,000  
                     
           3 

 The total capital of the firm of Saurabh, Mohit and Nikhil was ` 1,00,000. The net 
profits for the last 3 years were : 2013-14 ` 40,000; 2014-15 ` 46,000 and  
2015-16 ` 52,000. There was an abnormal loss of ` 3,000 in 2014-15. Goodwill of the 
firm was to be valued at 2 years purchase of the average profits of last three years. 
Calculate the goodwill of the firm.  

 

8.        ` 4,80,000    ` 80,000    
 ` 3,20,000       ` 20,000         
         ` 100     8%    
50%                  
      3 

 Sico Ltd. took over the assets of ` 4,80,000 and liabilities of ` 80,000 of Mittal Ltd. for a 
consideration of ` 3,20,000. ` 20,000 were paid by an acceptance in favour of Mittal 
Ltd. payable after 3 months and the balance by issue of fully paid up 8% Preference 
Shares of ` 100 each at a premium of 50%. Pass the necessary journal entries for the 
above transactions in the books of Sico Ltd. 
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9.       ` 100   32,000  , ` 20      

             

   – ` 20;   – ` 40 ( )          

 30,000      4,000    ,      

   ,                  

       ‘ ’   ‘  ’      3 

 Kansa Ltd. offered 32,000 equity shares of  ` 100 each to the public at a premium of   

` 20 per share. The amount was payable as : ` 20 on application; ` 40 (including  

premium) on allotment; and the balance on first and final call. 30,000 shares were 

subscribed by the public. 

 All the money was duly received except from a shareholder holding 4,000 shares who 

failed to pay the first and final call money. His shares were forfeited. Show ‘Share 

Capital’ in the Balance Sheet of Kansa Ltd. Also prepare ‘Notes to Accounts’. 

 
10.  ,          5 : 3 : 2        1 ,  

2016      ` 5,00,000; ` 3,00,000  ` 2,00,000      

  31       5 , 2016           : 

 ()      ` 30,000  ;   

 ()             ` 200     

                 3 

 Farhan, Hina and Dolly are partners in a firm sharing profits in the ratio of 5 : 3 : 2. On 

1st April, 2016 the capitals of the partners were : ` 5,00,000; ` 3,00,000 and ` 2,00,000 

respectively. The firm closes its books on 31st March every year. Dolly died on 5th April, 

2016.  

 On that date : 

 (a) Goodwill of the firm was valued at ` 30,000; and 

 (b) Dolly’s share of profit till the date of her death was calculated as ` 200. 

 Prepare Dolly’s Capital A/c to be rendered to her executors.  
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11.                      

                     

      ,           

                     

                     

           1 : 2          

           ` 18,000      

       ` 1,20,000     

 ()              

 ()              4 

 Bhavya and Naman were partners in a firm carrying on a tiffin service in Hyderabad. 

Bhavya noticed that a lot of food is left at the end of the day. To avoid wastage she 

suggested that it be distributed to the needy; Naman wanted that it should be mixed with 

the food being served the next day. Naman then gave a proposal that if his share in the 

profit is increased, he will not mind free distribution of left over food. Bhavya happily 

agreed. So, they decided to change their profit sharing ratio to 1 : 2 with immediate 

effect. On that date revaluation of assets and reassessment of liabilities was carried out 

that resulted into a gain of  ` 18,000. On that date the goodwill of the firm was valued at 

` 1,20,000. 

 (a) Pass necessary journal entries for the above in the books of the firm. 

 (b) State any two values highlighted in the above para. 

 

12.     ` 10    6,000    ` 2         

` 3                      

300   ` 8            

                  

     4 

 Cemto Ltd. forfeited 6,000 shares of  ` 10 each issued at a premium of  ` 2 per share for 

the non-payment of final call of  ` 3 per share. 300 of the forfeited shares were reissued 

for  ` 8 per share as fully paid up. 

 Pass necessary journal entries for the forfeiture and re-issue of shares. Also prepare 

share forfeited account. 
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13. () 11%            :  6 

     ` 100   ` 80,000  11%    5%    
      10%        

 ()           :  

  (i)    ` 100   ` 1,00,000, 13%    110%  
 ` 50             10%  
        

  (ii)          ` 1,000   420, 11%  
  ` 1,002      

    ,              

 (a) Journalise the following transaction on issue of 11% debentures : 

  Winona Ltd. issued ` 80,000, 11% debentures of ` 100 each at a premium of 5% 
redeemable at a premium of 10%. 

 (b) Journalise the following transactions for redemption of debentures :  

  (i) Hevkel Ltd. redeemed ` 1,00,000,  13% debentures of ` 100 each at 110% 
by converting them into equity shares of ` 50 each issued at a premium of 
10%. 

  (ii) Anglec Ltd. purchased its own 420, 11% Debentures of ` 1,000 each @       
` 1,002 per debenture for immediate cancellation. 

  Ignore entries for Debenture Redemption Reserve, Debenture Redemption 
Investments and Interest. 

 

14.      (  )         
 31 , 2016               
     - 3 : 2        6 

 ()         ` 23,000          
      ` 10,000              

 ()   ,   ` 60,000           
    ,  90%      

 () ` 40,000          ` 38,000        
   

 ()          ` 3,00,000     2%     
 ()    ` 40   500  ,  ` 22,000        

                ` 50    
              

 ()   ` 45,000      
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 Give the necessary journal entries for the following transactions on dissolution of the 
firm of Anita and Ravi on 31st March 2016, after the various assets (other than cash) and 
the third party liabilities have been transferred to Realisation Account. They shared 
profits and losses in the ratio 3 : 2. 

 (a) Ravi was to get a remuneration of ` 23,000 for completing the dissolution process. 
He also agreed to bear realization expenses. Realisation expenses of ` 10,000 were 
paid by Ravi from the firm’s cash. 

 (b) Amitesh, an old customer whose account for ` 60,000 was written off as bad debt 
in the previous year, paid 90%. 

 (c) Creditors of ` 40,000, accepted furniture valued at ` 38,000 in full settlement of 
their claim. 

 (d) Land and Building was sold for ` 3,00,000 through a broker who charged 2% 
commission. 

 (e) There were 500 shares of ` 40 each in Vision Ltd., acquired at a cost of ` 22,000 
and had been written off completely from the books. These shares are now valued  
at ` 50 each and divided among the partners in their profit sharing ratio. 

 (f) Profit on realization was ` 45,000. 

 

15.          2 : 3        1 , 2015  
    ` 70,000  ` 60,000        2015-2016    
     ` 16,000  ` 12,000       1 , 2016 

           31 , 2016         
           :  6 

 ()   6%      ;  

 ()   6%      ; 

 ()       ` 4,000      

                   
 Mudit and Uday are partners in a firm sharing profits in the ratio 2 : 3. Their capital 

accounts as on April 1, 2015 showed balances of ` 70,000 and ` 60,000 respectively. 
The drawings of Mudit and Uday during the year 2015-2016 were ` 16,000 and                         
` 12,000 respectively. Both the amounts were withdrawn on 1st January 2016. It was 
subsequently found that the following items had been omitted while preparing the final 
accounts for the year ended 31st March 2016. 

 (a) Interest on capitals @ 6% p.a.; 

 (b) Interest on drawings @ 6% p.a.; 

 (c) Mudit was entitled to a commission of ` 4,000 for the whole year. 

 Showing you workings clearly pass a rectifying entry in the books of the firm.  
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16.    ` 10   1,20,000    ` 2        
              :  8 

   – ` 3   (` 1  ) 

   – ` 3    

      – ` 6   (` 1  ) 

 1,40,000        10,000           
                 
                  ,  
      6,000          
                      
` 33,000           

                

  

    ` 100   54,000           
     : 

   – ` 50    

   – ` 10    

      –   

  80,000        14,000         
        40,000          
                 

 ,   1200  ,             
  ,            ,      
 ,          ,   400   
                   
             ` 110        
    

                
           
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 Benolac Paints Ltd. invited application for issuing 1,20,000 equity shares of ` 10 each at 

a premium of ` 2 per share. The amount was payable as follows : 

 On application – ` 3 per share (including premium ` 1) 

 On allotment – ` 3 per share.  

 On first and final call – ` 6 per share (including premium ` 1) 

 Applications for 1,40,000 shares were received. Applications for 10,000 shares were 

rejected and pro-rata allotment was made to the remaining applicants. Over payments on 

application were adjusted towards sums due on allotment. All calls were made and were 

duly received except allotment and final call on 6,000 shares allotted to Sharvi. These 

shares were  forfeited. Afterwards, half of the forfeited shares were re-issued for             

` 33,000 as fully paid up. 

 Pass necessary journal entries for the above transactions in the books of Benolac Paints 

Ltd. 

OR 

 Bayson Ltd. invited applications for issuing 54,000 shares of ` 100 each payable as 

follows : 

 ` 50 per share on application 

 ` 10 per share on allotment 

 Balance on first and final call. Applications were received for 80,000 shares.  

 Full allotment was made to the applicants of 14,000 shares. The remaining applicants 

were allotted 40,000 shares on pro-rata basis. Excess money received with application 

was adjusted towards sums due on allotment and call. 

 Vibhor, holding 1,200 shares, who belonged to the category of applicants to whom full 

allotment was made, paid the call money at the time of allotment. Vidur, who belonged 

to the category of applicants to whom shares were allotted on pro-rata basis did not pay 

anything after application on his 400 shares. Vidur’s shares were forfeited after the first 

and final call. All the forfeited shares were later on re-issued at ` 110 per share as fully 

paid up. 

 Pass the necessary journal entries in the books of Bayson Ltd. for the above transactions 

by opening calls in arrears and calls in advance account wherever necessary. 
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17.       3 : 2        31 , 2016    
     :  8 

 
 
(`) 

 
 
(`) 

   11,40,000    5,60,000 

   7,00,000     6,00,000 

    60,000   1,60,000 

  1,00,000    6,00,000  

        20,000 5,80,000 

    1,00,000 

 20,00,000  20,00,000 

 1 , 2016                  
  3 : 2 : 5        ` 6,00,000       
    

 ()         ` 30,000     

 ()      125%      

 () ` 30,000           

 ()    ` 40,000    

  ,               

  

 ,       2 : 1 : 1        31-3-2016  
       : 

 
 
(`) 

 
 
(`) 

  53,000  60,000 

   47,000  60,000 

   2,00,000   1,00,000 

   1,00,000   2,40,000 

   80,000 -   20,000 

 4,80,000  4,80,000 

Downloaded From :http://cbseportal.com/

Downloaded From :http://cbseportal.com/ Courtesy : CBSE

http://cbseportal.com/
http://cbseportal.com/


67/1 11 [P.T.O. 

 1-4-2016                 : 

 ()                    
          2013-14   ` 1,00,000  2014-15  
 ` 1,30,000    

 ()    ` 3,00,000      

 ()    120%      

 ()                

  ,               

 Qadir and Rishab are partners sharing profits in the ratio of 3 : 2. Their Balance Sheet as 
at 31st March, 2016 is given below : 

Liabilities 
Amount 

(`) 
Assets 

Amount 

(`) 

Qadir’s Capital 11,40,000 Land & Building 5,60,000 

Rishab’s Capital 7,00,000 Plant & Machinery 6,00,000 

Workmen’s Compensation Reserve 60,000 Stock 1,60,000 

Creditors 1,00,000 Debtors  6,00,000  

  Less Provision    20,000 5,80,000 

  Bank 1,00,000 

 20,00,000  20,00,000 

 Qadir and Rishab decides to admit Sapna as a new partner from 1st April, 2016. Their 

new profit sharing ratio was 3 : 2 : 5. Sapna brought in ` 6,00,000 as her capital and her 

share of goodwill premium in cash. 

 (a) Sapna’s share of goodwill premium was valued at ` 30,000. 

 (b) Plant and Machinery be valued at 125%. 

 (c) Creditors were unrecorded to the extent of ` 30,000. 

 (d) Claim on account of workmen compensation was ` 40,000. 

 Prepare Revaluation A/c., Partners’ Capital Accounts and the Balance Sheet of the 

reconstituted firm. 

OR 
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 Kanika, Disha and Kabir were partners sharing profits in the ratio of 2 : 1 : 1. On                  

31-3-2016, their Balance Sheet was as under : 

Liabilities 
Amount 

(`) 
Assets 

Amount 

(`) 

Trade creditors 53,000 Bank 60,000 

Employees’ Provident Fund 47,000 Debtors 60,000 

Kanika’s capital 2,00,000 Stock 1,00,000 

Disha’s capital 1,00,000 Fixed assets 2,40,000 

Kabir’s capital 80,000 Profit & Loss A/c. 20,000 

 4,80,000  4,80,000 

 Kanika retired on 1-4-2016. For this purpose, the following adjustments were agreed 

upon : 

 (a) Goodwill of the firm was valued at 2 years’ purchase of average profits of three 

completed years preceding the date of retirement. The profits for the year :   

  2013-14 were ` 1,00,000 and for 2014-15 were ` 1,30,000. 

 (b) Fixed assets were to be increased to ` 3,00,000. 

 (c) Stock was to be valued at 120%. 

 (d) The amount payable to Kanika was transferred to her loan account. 

 Prepare Revaluation Account, Capital Accounts of the partners and the Balance Sheet of 

the reconstituted firm. 
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 –  
PART – B 

 – I
Option – I 

 

(   ) 
(Analysis of Financial Statements) 

 

18.  ‘ ’     ?  1 

 What is meant by ‘Cash Equivalents’ ? 

 

19.        ,             1 

 Give any one example of an activity, which is an investing activity for every type of 

enterprise.  

 

20.  ()  , 2013   III           
 - ( )    :  4 

  (i)     

  (ii)    

 () ‘   ’          

 (a) Classify the following items under Major Head and Sub-Head (if any) in the 

Balance Sheet of a company as per Schedule III of the Companies Act, 2013 : 

  (i) Income received in advance and 

  (ii) Capital Advances. 

 (b) State any two limitations of ‘Analysis of Financial Statements’. 

 

21.  ()          ` 1,20,000      40%   
  ` 1,00,000  10%     4 

          

 ()              : 

    ` 20,000;   ` 22,000;  ` 80,000;  ` 9,000;  
 ` 2,000;   ` 1,000;    ` 80,000;   ` 4,000; 

 ` 5,000. 
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 (a) The net profit after interest and tax of a company was ` 1,20,000; Rate of income 

tax is 40%. The company has 10% debentures of ` 1,00,000. Calculate interest 

coverage ratio. 

 (b) From the following information related to a company calculate inventory turnover 

ratio : Opening inventory ` 20,000; Closing inventory ` 22,000; Purchases  

` 80,000; Wages ` 9,000; Carriage outwards ` 2,000; Returns outwards ` 1,000; 

Revenue from operations ` 80,000; Carriage inwards ` 4,000; Rent ` 5,000. 

 

22.  31 , 2015  2016           -    

     :  4 

 
 

 

2015-16 

 

(`) 

2014-15 

 

(`) 

    30,00,000 20,00,000 

  12,00,000 10,00,000 

    3,60,000 4,00,000 

   50%  40% 

 

 From the following Statement of Profit and Loss of Sun Ltd., for the years ended  
31st March, 2015 and 2016, prepare a Common Size Statement : 

Particulars 
Note 
No. 

2015-16 

Amount 

(`) 

2014-15 

Amount 

(`) 

Revenue from operations  30,00,000 20,00,000 

Expenses  12,00,000 10,00,000 

Other incomes  3,60,000 4,00,000 

Income Tax  50%  40% 
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23.             :  6 

  
31 , 2015 

(`) 

31 , 2014 

(`) 

      18,00,000 8,00,000 

12%   1,50,000 5,00,000 

    6,00,000 4,00,000 

 1,20,000 40,000 

   : 

 (i)    9%      

 (ii) ` 50,000     (  ` 15,000     )               

` 40,000          ` 55,000      
 

 Calculate Cash Flows from Investing Activities from the following information : 

Particulars 
31st March 2015 

(`) 

31st March 2014 

(`) 

Investments in shares of Miko Ltd. 18,00,000 8,00,000 

12% Long Term Investments 1,50,000 5,00,000 

Plant and Machinery 6,00,000 4,00,000 

Goodwill 1,20,000 40,000 

 Additional information : 

 (i) 9% dividend was received from Miko Ltd. 

 (ii) A machine costing ` 50,000 (depreciation provided thereon ` 15,000) was sold 

for ` 40,000. Depreciation charged during the year was ` 55,000. 
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 –  
 PART – B 

 – II
 Option – II 

( )
 (Computerized Accounting) 

 

18.  ‘ ’     ?  1 

 What is meant by ‘Block Code’ ? 

 

19.  ‘’        ?  1 

 What facility is provided by a ‘Query’ ? 

 

20.                  4 

 State any two advantages and any two limitations of computerized accounting system. 

 

21.                ()  
     4 

 Explain any two generic considerations before sourcing an accounting software.  

 

22.        ....      ....  
       4 

 Give the names of two commonly available DBMS software and explain any three 
advantages of DBMS. 

 

23.  /        6 

 Explain various elements of Charts/Graphs.  
__________ 
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